
7 8 6

3934

33 24 26 23

25

1

2

3

4

5

6

7

8

9

12

11
10

13

14

19

15 16
17

2322

21

20

24 25

26

28

27

14

17

29

18

19

17

30

31

30

31

33

34

35
16

TORUS XPLORE
NR.	 PART						                  ARRTICLE NR.

1 FRAMEKIT
S
M
L
XL
XXL

ISC002868
ISC002869
ISC002870
ISC002871
ISC002872

2 SEAT POST CLAMP COMPLETE X
3 SEATPOST ISC002907
4 BOLT M5*P0.8*L35MM ISC003190
5 BOLT M5*P0.8*L45MM ISC003191
6 SEAT POST RAIL CLAMP NUT ISC003194
7 SEAT POST RAIL CLAMP TOP ISC003193
8 SEAT POST RAIL CLAMP WEDGE ISC003192
9 BOLT M5*P0.8*L10MM ISC003184
10 NUT ISC003187
11 BOLT M6*P1.0*L30MM ISC003185
12 SHIM ISC003186
13 REAR THRU AXLE ISC003183
14 BOLT M5*P0.8*L12MM ISC003175
15 REAR DERAILLEUR SET X
16 CABLE GUIDE TYPE 4 ISC003173
17 CABLE GUIDE TYPE 2 ISC003171
18 BOLT M5*P0.8*L16MM ISC003174
19 CALBE GUIDE TYPE 1 ISC003170
20 BOLT M4*P0.7*L12MM ISC003177
21 FRONT DERAILLEUR SET X
22 BOLT M5*P0.8*L12MM ISC003175
23 RUBBER Di2 ISC003178
24 BOLT M5*P0.8*L16MM ISC003174

NR.	 PART						                  ARRTICLE NR.
25 BOTTOM BRACKET CABLE GUIDE COVER ISC003180
26 BOTTOM BRACKET CABLE GUIDE ISC003179
27 BOLT M5*P0.8*L16MM ISC003174
28 BOTTOM BRACKET GUIDE PLATE ISC003195
29 CABLE GUIDE TYPE 3 ISC003172
30 THRU AXLE BOLT X
31 X X
32 FRONT THRU AXLE X
33 BOLT M5*P0.8*L16MM ISC003181
34 FORK ISC002900
35 BOLT M6*P1.0*L10MM ISC003188

EMERALD GREEN

https://www.isaac-cycle.com/nl_NL/p/torus-bout-m5p08l35mm-ev32/60151/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m5p08l45mm-ev32/60152/
https://www.isaac-cycle.com/nl_NL/p/torus-zadelpen-railklem-moer-ev35/60155/
https://www.isaac-cycle.com/nl_NL/p/torus-zadelpen-railklem-top-ev34/60154/
https://www.isaac-cycle.com/nl_NL/p/torus-zadelpen-railklem-wedge-ev33/60153/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m5p08l10mm-ev23/60145/
https://www.isaac-cycle.com/nl_NL/p/torus-moer-ev26/60148/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m6p10l30mm-ev24/60146/
https://www.isaac-cycle.com/nl_NL/p/torus-onderlegschijf-ev25/60147/
https://www.isaac-cycle.com/nl_NL/p/torusbaryon-thru-axle-moer-ev22-5/60144/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m5p08l12mm-ev141/60138/
https://www.isaac-cycle.com/nl_NL/p/torus-calbe-guide-type-4-ev13/60136/
https://www.isaac-cycle.com/nl_NL/p/torus-calbe-guide-type-2-ev11/60134/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m5p08l16mm-ev14-36/60137/
https://www.isaac-cycle.com/nl_NL/p/torus-calbe-guide-type-1-ev10/60133/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m4p07l12mm-ev16/60139/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m5p08l12mm-ev141/60138/
https://www.isaac-cycle.com/nl_NL/p/torus-rubber-di2-ev17/60140/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m5p08l16mm-ev14-36/60137/
https://www.isaac-cycle.com/nl_NL/p/torus-bottom-bracket-cable-guide-cover-ev19/60142/
https://www.isaac-cycle.com/nl_NL/p/torus-bottom-bracket-cable-guide-ev18/60141/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m5p08l16mm-ev14-36/60137/
https://www.isaac-cycle.com/nl_NL/p/torus-bottom-bracket-guide/60156/
https://www.isaac-cycle.com/nl_NL/p/torus-calbe-guide-type-3-ev12/60135/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m5p08l16mm-ev20/60143/
https://www.isaac-cycle.com/nl_NL/p/torus-bout-m6p10l10mm-ev27/60149/

